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History Script H
Explain how the policy of appeasement affected international relations in the 1930s
In the 1930s, the United Kingdom and France (to a certain extent) followed the foreign policy known as ‘appeasement’ as a diplomatic approach to foreign conflict and political tensions.
The reasons for appeasement led to the UK looking weaker in terms of military power. The country followed the policy due to its fear and trauma of WW1 and was therefore more reticent to engage in physical conflict with opposing countries. Furthermore, the British army was still weakened by the Great War, and the economic depression of the 1930s made the UK more interested in the issues in its own country, rather than foreign threats. This is why the UK adopted the foreign policy of appeasement, which only showcased its weakness to foreign opponents. Overall, the policy of appeasement demonstrated the weakness of the UK government to the rest of the world.
The military weakness of the UK made it more open to military agreements with other countries. The Anglo-German Naval Agreement was signed in 1935 by the British and German governments with no prior consultation with France or Italy. This agreement not only went against the Treaty of Versailles, as it allowed Germany to build submarines, but it also lowered France’s confidence in the British government and pushed it to be more open to negotiations with Germany and Italy. Overall, the appeasement policy led by the UK allowed German re-armament and degraded relationships between strong democracies like France and Britain.
The German and British naval agreement and the worsened French and British relations, openly led to Germany’s expansion and Hitler’s aggressive behaviour in foreign policies. The re-armament of Germany allowed the country to go further against the Treaty of Versailles and invade the parts of Germany occupied by the French army. The British appeasement policy and its friendly relationship with Germany made the UK unable to assist the French. This event not only further affected the relationship between France and the UK, but also directly enabled Germany in its expansionist ideologies, and proved to Hitler that he could expand without major military retaliation from other European powers. Overall, appeasement led to an enabling of German expansion and an increase in German aggressiveness.
Appeasement not only proved the weakness of France and Britain, but also the weakness of the League of Nations. The Japanese invasion of Manchuria is often categorised as the first major event that affected the appeasement policy. The League of Nations was afraid to start a war with Japan due to American isolationism and the economic depression, which also made retaliation through embargo impossible. The League’s absence of retaliation to the Japanese invasion discredited the League’s power and influence and showcased to the world its inability to achieve a form of collective security. The policy of appeasement led to a weakening of the League of Nation’s credibility and influence.
Overall, the policy of appeasement led to an enabling of German expansionism, the degradation of relations between liberal democracies, and the discrediting of the League of Nations.

JN – This response focuses on the demands of the question and it is well structured, culminating in a conclusion that pulls it together. Despite this, some of the earlier paragraphs are rather repetitive. There is good knowledge, which is directed effectively towards answering the question. Understanding is good and the ideas are developed well. Arguments are clear and based on sound analysis. Perhaps more is needed on the impact of appeasement on the countries of Eastern Europe, and sometimes the details are left a little vague. Despite this, I think that the answer fulfils the requirements for a ‘Good’ answer, so I’m going to give it 6/8.


How far do you agree that the economic factors were the most important underlying cause of the slide towards WW2?
The historian A. J. P. Taylor is famous for his controversial view of the Second World War having been caused not only by German and Nazi ambition, but also by the failure of the democracies to stop him. Other historians, such as Paul. N. Hehn, saw the Second World War as an economic conflict, enabled by the consequences of the economic crash of 1929. However, although the economic factors of the 1930s were an important cause of the world conflict in 1939, it is also crucial to take into account the consequences of WW1 and its effect on ideologies and ambitions in the 1930s.
The consequences of the Treaty of Versailles is one of the most important factors in the road to WW2. The pressure that was put on Germany to take most of the blame for the first conflict led to a national sentiment of shame for the German population. Furthermore, the French occupation of German regions such as the Ruhr only worsened feelings of both shame and hate, as the French took over a large part of German economic production and the French army was notoriously violent towards the local population of the Ruhr. This deep feeling of shame pushed Germany towards extremist nationalist ideologies, notably Nazism. Overall, the unfair treatment of Germany through the Treaty of Versailles pushed the population towards nationalism and the Nazi political party.
This push towards nationalism was further enhanced by the Great Depression and the drive towards economic nationalism. The economic depression of the 1930s first started in the USA, but when the country directed itself towards economic nationalism by raising tariffs to lower imports, the world was quickly affected due to Europe’s reliance on US exports and American loans. This is why several countries, notably Germany and Italy, turned towards nationalistic views by prioritising their country’s survival over others. Germany was already in a form of economic depression due to the conditions of the Treaty of Versailles. The repercussions of the Great Depression in Europe led towards the rise of nationalist and totalitarian ideologies.
The ideologies that became popular due to the shame of the Treaty of Versailles and the global economic depression, focused mainly on the importance and superiority of the people.  This is a trait common to all totalitarian states in the 1930s, whether it was German Nazism, Italian Fascism, or Soviet Communism. The only way to combat the shame of WW1 was to over-value the importance of the people. This ideological nationalism naturally led to a need for conflict and expansion. The only way to overcome the defeat of the war was to win another. This was notably how Hitler saw the world. By inciting and then winning a conflict, Germany could regain its glory and find its Way out of an economic depression. Overall, the rise of nationalistic ideologies led to a need for expansion and conflict.
Expansionist ideas were the final key to the start of WW2, as the invasion of Poland by the German army is often seen as the start of the international conflict with the retaliation of European forces. However, before this event, the past and successful attempts made by the totalitarian powers such as Germany and Italy to expand, highlighted the weakness of the League of Nations, and allowed Germany to finally invade Poland. The invasion of Czechoslovakia and the Munich accords can be seen as the biggest failure of the League of Nations in its attempt to ensure collective security. Its past failures during the invasions of Manchuria by Japan and Abyssinia by Italy, all led to the Munich accord, which directly gave away the Sudetenland region to Germany with no say from the Czechoslovakian government. This accord was the proof Hitler needed that liberal democracies would not act if he invaded Poland. Overall, expansionism and the weakness of the League of Nations were the final step towards WW2.
In conclusion, although economic factors such as the Great Depression pushed democracies towards nationalistic ideologies and expansionism, the shame of the Treaty of Versailles played a more crucial role in conflicts between totalitarian states and liberal democracies. This treaty led to the most destructive conflict in human history, notably due to the invention of the atomic bomb which ended WW2, only to incite the Cold war.

JN – I think this is an interesting answer from the point of view of assessment. The introduction is impressive and there is good knowledge of relevant facts. However, understanding is no better than ‘satisfactory’ and the facts are not always marshalled particularly well. This means that some of the arguments lack real conviction and there are several ‘throwaway’ statements that are vague and unsupported. The answer is focused on the demands of the question, but in a rather rambling way, and although the conclusion tries to pull things together, it does not match the promise of the introduction. However, there is enough here, overall, to get it into the ‘Good’ level and I’m going to give it 9/12. 
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